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Upon maturity, monarch butterflies travel hundreds of miles from their places of
origin and lay their eggs on milkweed. The caterpillars that emerge feed on milkweed
and absorb the glycosides in milkweed sap. The specific glycosides present in
milkweed differ from region to region within the monarch butterfly’s range. Since
mature butterflies retain the glycosides, the glycosides in a mature monarch butterfly
could be used to determine its place of origin.

Which of the following, if true, most strengthens the argument?
Mature monarch butterflies do not feed on parts of milkweed that contain

glycosides.
The glycosides in milkweed sap are slightly toxic to caterpillars of other species.

. The vast majority of the monarch butterflies that are laying eggs in a given region
will have traveled there from a single region.

. There are substances other than glycosides in milkweed sap that accumulate in a
monarch caterpillar and are retained in the body of the mature butterfly.

There are certain glycosides that are found in the sap of all milkweeds, no matter
where they grow within the monarch butterfly’s range.
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An alarming number of Mediterranean monk seals, an endangered species, have
recently died. Postmortem analysis showed the presence of an as yet unidentified
virus, as well as evidence of a known bacterial toxin. Seawater samples from the
area where the seals died did contain unusually high concentrations of the toxic
bacterium. Therefore, although both viruses and bacterial toxins can kill seals, it is
more likely that these deaths were the result of the bacterial toxin.

Which of the following, if true, provides additional evidence to support the conclusion?
Viruses are much more difficult to identify in postmortem analysis than bacteria

are.
Mediterranean monk seals are the only species of seal in the area where the

The bacterium is almost always present in the water in at least small
concentrations.

Nearly all the recent deaths were among adult seals, but young seals are far

r

more susceptible to viruses than are adult seals.ist

Several years ago, a large number of monk seals died in the same area as a
result of exposure to a different bacterial toxin.
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In mountainous regions, the timberline is the highest altitude at which trees grow.
In the Rocky Mountains, the current timberline is at the altitude above which growing
season temperatures remain cooler than 10 degrees centigrade. Fossilized remains
of trees that grew 10,000 years ago have been found 100 meters above the current
Rocky Mountain timberline. Clearly, therefore, the climate of the Rocky Mountains is
cooler now than it was 10,000 years ago.

Which of the following is an assumption on which the argument relies?
In the past 10,000 years, the only trees to have grown above today's timberline

are the trees whose fossilized remains been found.

No trees grew 10,000 years ago at altitudes higher than the ones at which
fossilized tree remains have been found.

The fossils are not of species of trees that were able to tolerate cooler growing
temperatures than are the species that currently grow near the timberline.

The Rocky Mountains have not eroded significantly over the past 10,000 years.

The climate of the Rocky Mountains has never been significantly warmer than
during the lifetime of the trees whose fossilized remains have been found.
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Cotton grass, which grows only in arctic regions, has been the only summertime
source of protein available to caribou. Caribou that do not get adequate amounts of
protein in the summer are unable to reproduce the following year. Rising average
temperatures in arctic regions, however, are causing cotton grass to disappear.
Therefore, if the warming trend continues, caribou are likely to become extinct.

Which of the following is an assumption on which the argument depends?

cotton grass is the only one of the caribou’s food sources that is becoming scarce
as temperatures rise in arctic regions.

caribou that do not eat enough protein to reproduce do not live as long as caribou
that do

The warming trend in arctic regions will not enable other plants capable of
providing protein to caribou to grow there.

The caribou is the only animal that depends on cotton grass as a major source of
food.

If the warming trend continues and cotton grass disappears from arctic regions,
then cotton grass will be extinct.
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Princessfish are a species of coral-reef fish that are captured alive by divers
who first stun the individual fish by squirting a certain poison at them. Since the
divers limit their catch to a few individuals and take care not to overfish, the divers’

continuing activities will clearly not result in serious harm to populations of
princessfish.

Which of the following, if true, most seriously weaken the argument given?
A. Princessfish cannot be captured alive by traditional methods of fishing.

B. The poison used to stun the princessfish has no effect on humans who eat
them.

Demand for princessfish has remained steady during the last decade.

. Traces of the poison that remain in the seawater damage the corals that create
and maintain the reefs on which princessfish depend.

Fish that have been stunned but have selected for capture by the divers soon
recover from the temporary effect of the poison.

www.koolearn.com



Passage 6

www.koolearn.com




The Great Sphinx is a huge statue in Egypt that has a lion’s body with a man’s
head. The face of the Sphinx has long been claimed to be that of pharaoh Khafre,
who lived around 2600 B.C., but it cannot be: erosion patterns recently discovered on
the lion’s legs can only have been caused by heavy rains, and the Sahara has not
had heavy rains in over 10,000 years.

Which of the following, if true, most seriously weakens the argument?

The face of the Sphinx bears a resemblance to the faces on certain stylized
statues dating from both before and after the reign of Khafre.

Other erosion patterns that appear on the body of the Sphinx are of a sort that
could be caused by wind and sand alone.

. Other than the Sphinx, there are no surviving sculptures that have been claimed
to portray the face of Khafre.

In the last 10,000 years the climate of Egypt has been so dry that even rains that
are not heavy have been extremely infrequent.

The face of the Sphinx is small relative to the rest of the head, indicating that the
face may have been recarved long after the Sphinx was built.
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Sportfishers introduced the Zander, a type of perch, to Britain’s rivers and canals in
the 1970s. Because zander eat large numbers of smaller fish, they have had a
devastating effect on native fish populations. To protect the native fish, a government
program removed a significant proportion of the zander from Britain’s waterways last
year. Surprisingly, this year the loss of native fish to zander has been greater than
before.

Which of the following, if true, would most help to explain the greater effect of zander on
the native fish population?

A. The climate in Britain is very similar to the climate in regions to which zander are
native.

B. Most of the zander removed were fully grown, and fully grown zander eat large
numbers of smaller zander.

Every year a large number of zander are caught by sportfisher in Britain’s waterway.

Previous government program designed to remove nonnative species from Britain’s
waterways have failed.

Zander are just one of several nonnative fish that prey on the other fish found in
Britain’s waterway.
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Although initially symptomless, glaucoma can eventually cause blindness when not properly
treated. Tests under laboratory conditions of the traditional treatment, daily administration of
eyedrops, show it to be as effective in relieving the internal ocular pressure that causes
glaucoma as is a new laser-surgical procedure. Yet glaucoma-related blindness occurs in a
significantly smaller percentage of patients who have had the surgery than of patients for
whom only the eyedrop treatment was prescribed.

Which of following, if true, most helps to explain the low rate glaucoma-related blindness
among patients who had the surgery?

Glaucoma-related blindness is no more common among patients who have had only the

surgery than it is among patients who had the surgery after using the eyedrops.

Doctors rarely recommend the surgery for glaucoma patients who have already started the
traditional course of treatment.

There is no known physiological cause of glaucoma other than increase in pressure inside
the eye.

A significant percentage of the people for whom the eyedrop treatment has been
prescribed fail to follow the prescribed daily regimen, because the eyedrops have
unpleasant side effects.

The eyedrops traditionally prescribed to treat glaucoma are normally prescribed to treat
other disease of the eye.
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When rats are placed under conditions of stress, their adrenal glands immediately increase

production of the hormone corticosterone, and soon thereafter the rats’ white blood cell count
drops substantially. Yet rats without functioning adrenal glands experience little decrease in
white blood cell count when placed under conditions of stress. It is likely, therefore, that an
increase in corticosterone produced by a rat’s adrenal glands causes the rat’s white blood cell
count to decrease.

Which of the following would it be most useful to know in evaluating the reasoning of the
argument?

A.

Whether the drop in white blood cell count that occurs in rats under conditions of stress is

sufficient to make the rats more susceptible to diseases that white blood cells normally
combat.

Whether normal white blood cell counts vary widely among healthy rats that are not
underistriconditions of stress.

Whether the adrenal glands of rats that are under conditions of stress increase production
ofstrany hormone other than corticosterone.

Whether the adrenal glands of rats produce elevated levels of corticosterone on occasions
when the rats are not under conditions of stress.

Whether rats’ adrenal glands are affected by hormones produced by any of the rats’ other
organs.
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The economy of Colonia has been in recession for the past eight years. Most
companies that have not been forced into bankruptcy have survived thanks to the
high efficiency of the employees they retained, which helped the companies
control costs. In recent months, however, the Colonian economy has begun to
recover, and companies are beginning to expand their workforces. Colonia,
therefore, will soon experience a drop in average worker efficiency, since

Which of the following, if true, most logically complete the argument?
people who have been employed throughout the recession will, no doubt,

continue to be employed
Colonia is expected to begin importing more goods from other countries

most companies will find that few of the workers available for hiring are as
efficient as those they retained during the recession

. during the recession, workers did not receive any raise in their pay

many companies that were forced into bankruptcy in the past eight years had a
fair number of efficient workers

www.koolearn.com



Passage 11

www.koolearn.com




A hoard of coins recently unearthed at an ancient Carthagian site bear an image of a
face in profile with what appears to be a large mole on the cheek. Pointing out that an
artist would be unlikely to include such a specific detail in a generalized portrayal of a
face, some archaeologists have concluded that these coins portray an actual individual
rather than an idealized type. However, this conclusion is unwarranted, since

Which of the following most logically completes the argument?

archaeologists cannot determine the actual identity of the individual portrayed just
from the likeness that appears on the coins

it cannot be established with certainty that Carthagian artists were on the whole less
skillful at portraying human face than artists of other cultures

none of the other designs of Carthagian coins that have been discovered features a
face with a mole on it

in ancient times it was quite common for the money circulated in a city or country to
include coins that originated in other jurisdictions.

the relatively soft metal used for Carthagian coin molds sometimes resulted in the
production of series of coins with unintended bumps
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Although the passenger pigeons, now extinct, were abundant in
eighteenth- and nineteenth-century America, archaeological studies at
twelfth-century Cahokian sites in the present day United States examined
household food trash and found that traces of passenger pigeon were
quite rare. Given that the sites were close to a huge passenger pigeon
roost documented by John James Audubon in the nineteenth century and
that Cahokians consumed almost every other animal protein source

available, the archaeologists conducting the studies concluded the
passenger pigeon population had once been very limited before
increasing dramatically in post-Columbian America. Other archaeologists
have criticized those conclusions on the grounds that passenger pigeon
bones would not be likely to be preserved. But all the archaeological
projects found plenty of bird bones—and even tiny bones from fish.
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2.

Which of the following, if true, would most call into question the

reasoning of “the archaeologists conducting the studies™?

A.

Audubon was unable to correctly identify twelfth-century Cahokian
sites.

. Audubon made his observations before passenger pigeon populations

began to decline.

. Passenger pigeons would have been attracted to household food

trash.

. Archaeologists have found passenger pigeon remains among food

waste at eighteenth-century human settlements.

. Passenger pigeons tended not to roost at the same sites for very
many generations.
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In 1919 Britain experienced its largest ever reduction in industrial
working hours, to 48 per week. In Dowie’s view the 48-hour week played
a central role in Britain’s poor economic performance during the 1920s.
Dowie argued that the reduction, together with rapid wage growth, drove
up prices. However, Greasly and Oxley found that the First World War
(1914-1918) constituted a more powerful negative macroeconomic shock
to Britain’s competitiveness. And Scott argues that Dowie’s thesis ignores

considerable evidence that hourly productivity improves when hours are
reduced from a high base level. Crucially, Dowie’s thesis does not
acknowledge that hours were reduced to around 48 hours a week for
industrial workers in most industrialized nations at this time so far—
undermining any potential impact of reduced hours on industrial
productivity relative to other nations.
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1. Which of the following, if true, provides the strongest support for Scott’s
argument?

A.

Companies have generally found that part-time employees are less productive
than full-time ones.

. When the total number of hours worked at a company increases owing to the

addition of more employees, the usual result is improved productivity at the
company.

. When the total hours worked by all employees per week in two companies are
equivalent, hourly productivity tends to be equivalent as well.

. Companies whose employees usually work a high number of hours tend to

have greater total costs than do similar companies whose employees work
fewer hours.

Companies have found that total output per employee is not necessarily
changed by reductions in the number of hours worked per employee.
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